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.INCLUDE potentiometer_standard.lib

.tran 0 500m 0 1m

.param blend=1

.param drive=0.9

;op

* TRansformer Specified With Inductance Per Coil
* "Primary" inductance    L1, series resistor R1
* "Secondary" inductance  L2, series resistor R2
* "Secondary" inductance  L3, series resistor R3
* Coupling factor       K123 <=1
* Ideal transformer voltage ratio = SQRT(L2/L1), SQRT(L3/L1)
*
.SUBCKT TRAFO3K 1 2 3 4 5 6  L1={L1} L2={L2} L3={L3}  K123={K}
+ R1={R1} R2={R2} R3={R3}
*
L1 1 2 {L1}  Rser={R1}
L2 3 4 {L2}  Rser={R2}
L3 5 6 {L3}  Rser={R3}
K123 L1 L2 L3 {K123}
*
.ENDS TRAFO3K

;ac oct 100 1 20000

.param timb=0.5

.param rate=0.5

.param depth=0.99

.INCLUDE 3P4T.sub

.param freq=0.99

.param trim=0.9

Octave/Ring SSW

.step param timb list 0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1

From wave shape 
select rotary

To CV jacks
Then to stomp switch octave/ring

sin
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rect
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Depth Jack

.step param rate list 0.1 0.5 0.8

.step param depth list 0.1 0.5 0.9

B
C

VCO CV Pedal

SSW2-1
Off

On

.step param trim list 0.8 0.9 0.9999

.step param freq list 0.0001 0.5 0.9999
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Timbre
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Depth VCO

Wave shaper

square

tri

freq

pwm

DRAFT
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